SEEH2

BEIOERORATEHDEHSFRANALRAERDOEBRR U TIRIEDHTRE

BETOFRDOEAHBEIFNDFITS R /INA L IO HEFRE
101
ke
99.5
99
98.5
98
97
96.5
H26 H27 H28 H29 H30 R1 R2 R3 R4 R5
e T el BTH F ) =@ TETHF 1Y
H26 H27 H28 H29 H30 R1 R2 R3 R4 R5
S 100.6 100.3 100.7 100.7 100.7 100.5 100.5 100.2 100.1 100.0
HET RS 97.0 97.1 97.5 97.6 97.5 97.4 97.4 97.3 97.5 97.2
T BT A4 S 15 100.1 99.9] 100.3] 1004 100.3] 100.2] 100.1 99.9 99.8 99.6
SANAL A D DRI DHERE
60
50
40
30
20
10
0
H26 H27 H28 H29 H30 R1 R2 R3 R4 RS
=100l E m100KH
H26 H27 H28 H29 H30 R1 R2 R3 R4 R5
100K /i 40 41 38 39 37 40 41 45 42 45
10001 E 22 21 24 23 25 22 21 17 20 17




